# WEST BENGAL MEDICAL SERVICES CORPORATION LTD

(Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09 Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

#### Name of work:

Supply & fixing of Vertical Blinds for window at law branch, ground floor of Swasthya Sathi Building and the office chamber of the Jt. DHS (PH&CD) & Dy. DHS at 1st floor, Bwing, Swasthya Bhawan Building and Repairing of the existing VAT Swasthya Bhawan Complex

# NOTICE INVITING TENDER

#### Memo No: WBMSCL/NIT- 332/2021

Dated - 28/09/2021

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata - 700 091, invites sealed bids from eligible contractors with experience of similar nature of work for the work Supply & fixing of Vertical Blinds for window at law branch, ground floor of Swasthya Sathi Building and the office chamber of the Jt. DHS (PH&CD) & Dy. DHS at 1st floor, B-wing, Swasthya Bhawan Building and Repairing of the existing VAT Swasthya Bhawan Complex

The details may be available at Notice Board of WBMSCL & website <u>www.wbmsc.gov.in</u> and to be submitted (offline) on or before 3:00 P.M. on 05/09/2021.

Estimated Amount Put to Tender	Rs. 1,90,743.00
Bid Security/EMD	The bidder will have to deposit earnest money Rs. 3,815.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd").
Security Deposit	3% of the contract amount to be deducted from the Bill for each work.
Releasing of Security Deposit	One year from the date of completion of work
Tender Publication Date	29.09.2021
Last date of Submission of Tender	05/09/2021 upto 1.00 P.M.
Date of Opening of Tender Document	05/09/2021 at 1.30 P.M.
Validity of Quotation	120 days from the date of opening of the financial bid of the tender.
Time allowed for completion of Work	15 days from the date of Work order for both the work

Eligibility of participating bidder	Bonafied reliable and resourceful firm having executed similar nature of Work. Intending tenderers should produce credentials of a similar nature of completed work of the minimum value of 40% of the estimated amount put to tender.
Bid opening Venue	West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29 , Sector – V, Salt Lake, Kolkata – 700091.

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

**Documents comprising the bid :** (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

## The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year of 2020-21.
- d. Experience in similar field
- E. Duly signed NIT
- F. Trade License

### The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

Comparison of financial bid will be based on total amount of the site/location.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfill the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/-Managing Director & Commissioner, H & F W Department Name of the work -

Supply & fixing of Vertical Blinds for window at law branch, ground floor of Swasthya Sathi Building and the office chamber of the Jt. DHS (PH&CD) & Dy. DHS at 1st floor, B-wing, Swasthya Bhawan Building and Repairing of the existing VAT Swasthya Bhawan Complex

	B.O.Q.					
Sl.no.	Description of work	Quantity	Unit	Rate	Amount	
1	Supplying , fitting & fixing of 100 mm slat width vertical blind made with polister fabric. Te track shall be made using aluminium alloy section 45mm deep & 25mm high with wall thickness 1.1 mm. A clutch mechanism is incorporated to turn the slats and prevent damage to the mechanism. Opereting chain 4.5/6 .Bottom slats shall have weight chains/chainless weights/sealed pockets.all complete as per direction of Engineer in Charge.					
	, , , , , , , , , , , , , , , , , , , ,	Sqm	49	3100.00	1,51,900.00	
2	Cleaning and removing paint mark from glass pane with spirit and removing strains etc.	Cum.	10	19.23	192.30	
3	Dismantling all types of masonry excepting cement concrete plain or reinforced, stacking serviceable materials at site and removing rubbish as directed within a lead of 75 m.	Cum	10	13.23	152.50	
	a) In ground floor including roof.	Cum.	1.500	505.65	758.47	
4	Dismantling R.C. floor, roof, beams etc. including cutting rods and removing rubbish as directed within a lead of 75 m. including stacking of steel bars.					
	(a) In ground floor including roof. (a) upto 150 mm. Thick	Cum.	0.500	1062.20	531.10	
5	Brick work with 1st class bricks in cement mortar (1:6)			1002.20		
		Cum.	2.000	6123.19	12,246.37	
6	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete.					
	(a) Depth of excavation not exceeding 1,500 mm.	Cum.	0.500	134.92	67.46	

Sl.no.	Description of work	Quantity	Unit	Rate	Amount
7	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement if any, in ground floor as per relevant IS codes.				
	(i) Pakur Variety	Cum.	0.500	7054.16	3,527.08
8	Reinforcement for reinforced concrete work in all sorts of structures including distribution bars, stirrups, binders etc initial straightening and removal of loose rust (if necessary), cutting to requisite length, hooking and bending to correct shape, placing in proper position and binding with 16 gauge black annealed wire at every intersection, complete as per drawing and direction.				
	(a) For works in foundation and upto roof of ground floor/upto 4 m				
	II. JSW/JSPL/SHYAM/SRMB/BMASL/ELECTROSTEEL /SSL	M.T.	0.080	61747.68	4,939.81
9	<i>Hire and labour charges for shuttering with centering</i> <i>and necessary staging upto 4 m using approved stout</i> <i>props and thick hard wood planks of approved thickness</i> <i>with required bracing for concrete slabs, beams and</i> <i>columns, intels curved or straight including fitting, fixing</i> <i>and striking out after</i> <i>completion of works (upto roof of ground floor)</i>				
	<i>(a) 25 mm to 30 mm thick wooden shuttering as per decision &amp; direction of Engineer-In-Charge.</i>	Sqm	5.000	378.95	1,894.76
10	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).				
	(ii) With 1:4 cement mortar (a) 20 mm thick plaster	Sqm	14.000	213.80	2,993.16
11	<i>Neat cement punning about 1.5mm thick in wall, dado, window sill, floor etc.</i>	Sqm	14.000	38.46	538.45
12	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (6mm nominal size) excluding shuttering and reinforcement,if any, in gound floor as per relevant IS codes.			30.40	
	Pakur variety	Cum.	1.500	7310.95	10,966.42

Sl.no.	Description of work	Quantity	Unit	Rate	Amount
13	Removal of rubbish,earth etc. from the working				
	site and disposal of the same beyond the				
	compound, in conformity with the Municipal /				
	Corporation Rules for such disposal, loading into				
	truck and cleaning the site in all respect as per				
	direction of Engineer in charge	Cum.	1.000	187.78	187.78
	Total amount				
	Quoted percentage of rate ( Above +)				
	Quoted percentage of rate ( less -)				
	Quoted percentage of rate (At par)				
	Quoted rate in words				

Managing Director & Commissioner, H & F W Department